MAX, PANE! 3
e MAX L MAX. PANEL NOTES:
i WIDTH 48" _ WIDTH 48" 1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TG COMPLY
i WITH THE 2004 FLORIDA BUILDING CODE AMD THE INTERNATINAL BUILDING CODE.
PANELS SHALL BE FASTENED ACCORDING TO FASTENER MANUFACTURERS
A A INSTALLATION SPECIFICATIONS AND AS SHOWN HEREIN.
il ] 3. PANEL FRAME MATERIAL: POLYCARSONATE 16MM AND 25MM.
T T T _ _ # IOTTTTTTIT f 4. MAXIMUM PANEL SIZE: 48" X 96"
o i 5. TOP AND BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD
| CONDITIONS DICTATE PANELS MAY BE MOUNTED HORIZONTALLY WHERE
i APPLICABLE.
[ 6. RECOMMENDED SEPARATION 1" BETWEEN PRODUCT AND EXISTING GLASS.

»

TABLE OF CONTENTS
| SHEETS SHEET DESCRIPTION

{ | 1 ELEVATION & NOTES

_ i i 2 ANCHORING & NOTES

INSTALLATION DETAILS IN CONCRETE/MASONRY

| | I 4 INSTALLATION DETAILS IN WOOD FRAME
, _ q .ﬂ. n | s COMPONENTS & B.OM.
L] L1 L
EXTERIOR ELEVATION EXTERIOR ELEVATION
16MM 25MM
[ MAXIMUM ALLOWABLE MAXIMUM ALLOWABLE T
{  DESIGN PRESSURE DESIGN PRESSURE , - DOTT GALLINA 11
+60.0 PSF +80.0 PSF LisoR .ro__w_o% ,um Str. Carignano 104
7 ' 10040 La Loggia - Italy
(X, ; ™ 16 & 25 MM HURRICANE STORM PANEL RDC
X . % ELEVATION & NOTES
5 T H‘\&\\Dmv . FREFARED BV, T o o
37 ngingkrin c. ’ g B ALE
3 EEEEPSE L A BY a4 A
- ! mﬁ_xm 9t w, o H whmu ¥ N PTC_ENGINEERING, INC. ;
v PR A i mnwz____n‘nﬁw o iuan\...._ sl .uwu.uu [Fhone 772.398.4639 Fox dn_umm.,ﬂz_ -

i T T T




ANCHORING NOTES:

1.

LOCATE ANCHORS AS FOLLOWS:

AT SHORTER SIDE: 6" MAXIMUM FROM EACH CORNER AND 18" ..,_._.ohx__?___cz ON

CENTER THEREAFTER.

AT LONGER SIDE: 6" MAXIMUM FROM EACH CORNER AND 14" MAXIMUM ON

CENTER THEREAFTER.

6" FROM CORNERS MAX. rl_ 8" FROM CORNERS MAX, — 2. ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A
i MINIMUM TENSILE STRENGTH OF 60 K.S5.I., UNLESS OTHERWISE SPECIFIED.
" " 3. WHEN ANCHORING INTO MASONRY mCWm_m}._.m A MINIMUM EDGE DISTANCE OF
18" 0.C. MAX. o - 18" 0.C. MAX. ) - MUST BE MAINTAINED.
_ [2 e

a7 _E |

6" FROM CORNERS MAX.—

MAX -

14" 0.C.

I il | Ei—

I_ siiHI:

ANCHOR ELEVATION
16MM

6" FROM CORNERS M

AX. —
14" 0.C. MAX.«’*

{ .:__m_ P

ANCHOR ELEVATION
25MM

SYM REVISION

is R. -Lomas P.E. DOTT GALLINA s.r.l.
_.ﬂc_u m%o V_rwu_..._dnm« m.m e, Str. Carignano 104
’ 2 10040 La Loggia — Haly
y U™ 16 & 25 MM HURRICANE STORM PANEL RDG
s ANCHORING m_.m<b._._oz & ZO._.mm
' Q\p\ &_ . FREPARED BY:
: \». . A S — mmmﬁmom
; PTC Enginagring, | Y
\ Bmm m:ﬂ :mmn.ﬁm\ raa ; B V o 4 GAL-0007
Pocfsh. hufde FY 3 PTC_ENGINEERING, INC. =Ter-
amm Beriic ,w thorizéron zo wuﬁu P e = &a_ 2 OF 5

- - JJJ‘_-.J- ] Ty




2X FRAMING
BY OTHERS

SHEATHING
8Y OTHERS

EXTERIOR FINISH
\ \. 8Y OTHERS

|
_

2X FRAMING
BY OTHERS

SHEATHING
m< OTHERS

EXTERIOR FINISH
\m< QTHERS

. ; 47
i

2
S
| 90

-

! — /@

1/2" MIN. EMBEDMENT

1/2" MIN. EMBEDMENT Lo

| L

]

EXTERIOR
EXTERIOR
SECTION A-A
SECTION_ A—A WOOD FRAMING INSTALLATION
WOOD FRAMING INSTALLATION 16MM PANEL
MM P,
2oNhl FANEL CONCRETE OR )
CONCRETE OR 5 z%.o_mm« . A1
MASONRY Y OTHERS . 4
BY OTHERS « 1 1 W, )/M < (2 Yo
EMBEDMENT 4 a all
. ’ < |
Pa} Ll
T i ! a 4 < i
4 4 ; °° 2" MIN, " 4 A
- 4 EDGE DISTANCE < I SA8
L
i L - |
j 8 - ‘ _H
4 {
2" MIN. ¢ af , 8 q /@
EDGE DISTANCE < S A8 _ /
| \ 1 ._\.h_ MIN.
i < P | EMBEDMENT EXTERIOR
E @ SECTIZN Ao
MASONRY INSTALLATION
TeMM PANEL
~ — EXTERIOR Luis R., Lomas P.E. DOTT GALLINA s.r.l,
Flogidg . Me. 62514 Str. ooansoqo 104
x. Fun®e g 10040 La Loggia - Italy
SELION A-A tmw\ . F™ 16 & 25 MM HURRICANE STORM PANEL RDC
%mowm?hzumﬁmg.oz | » \ 8 _zmQFE_oz DETAILS
SMM L __Q s ..JL ! : FREFANED BY:
k ’ PTC Engingeri n 0 3 .
' muw_._ m;mm muaﬁmv _rh._m . ¢ “
! Port w., iy u& 3h PTC ENGINEERING, INC. =
= e e m«—wwumﬂ fisdt of fochotdnl o ‘\.u ¥ orone 772 388453 Fox 5.._33“; -
ot e




2% FRAMING 1\

BY OTHERS
SHEATHING i
BY OTHERS \
EXTERIOR FINISH
BY OTHERS
WooD nm»g zm INSTALLATION
25MM PANEL
CONCRETE
BY OTHERS
w
9
T A v
|
2" MIN. v . M|
EDGE oh_mﬂzo_m - ]
'
_x_
SECTION A—4
MASONRY INSTALLATION
25MM PANEL

EXTERIOR

o
o

2X FRAMING
BY OTHERS

SHEATHING s
BY OTHERS

EXTERIOR FINISH
BY OTHERS

CONCRETE
BY OTHERS

2" MIN, v
EDGE DISTANCE

SECTION A--A

WOOD FRAMING
TBMM PANEL

T, I
|

SECTIQN A—A
MASONRY INSTALLATION
T6MM PANEL

INSTALLATION

REVISION DATE | BY

Luis R. Lorhds P.E.
mvo:&a No, m 514

DOTT GALLINA s.r.l.
Str. Carignano 104
10040 La Loggia - italy

ﬁ\_m\&.u

TITLE:

16 & 25 MM HURRICANE STORM PANEL RDC
INSTALLATION DETAILS
M

%«n&. !

PTC n_.o___ﬂ& ng, Inc .
m‘m_ mm Gesfury Lane
Port Luc'e. - FL  Jesn?

' ot 4=

PTC ENGNEERING, ™.

cute m A _:n_._:_nc,rr No, Z5935

5 " .

Phone 772395 4639

Fax wuu.umu.ammﬂ_ -

L Trp—



1 T
BILL OF MATERIALS . @ 1/4" PANEL MATE (TEXTRON)
— PTION (Y 16MM PANEL " G (ITW BUI
f7EM #  |PART § DESCRIPTION (1) EXTERIOR WALLS THICKNESS 0.030 @ 1/4" TAPCON SG (ITW BUILDEX)
1 2161 16 MM POLYCARBONATE STORM PANEL INTERIOR FLUTED WALLS THICKNESS 0.010
2 2151 25 MM POLYCARBONATE STORM PANEL
URCH, 4" PANE TE M FASTENER (TEXTR _lIl_llm
3 PURCHASE 1/4" PANEL MA ALE FASTENER (TEXTRON) - _ 450
4 PURCHASE 1/4" STEEL WASHER m " ! i~
6 PURCHASE 1/4" TAPCON SG (ITW BUILDEX) i |
7 PURCHASE 1/4" EPDM WASHER f -
8 PURCHASE 1/4-20 ZAMAC NICKEL PLATED WASHERED WINGNUT _
9 PURCHASE 1/4" PANEL MATE FEMALE FASTENER {TEXTRON)
URC - 0 T TEE
10 PURCHASE | 1/4-20 ANCHOR BOLT HH STEEL
@ @ 1/4"-20 WING NUT
25MM PANEL . STEEL
EXTERIOR WALLS THICKNESS 0.030
INTERIOR FLUTED WALLS THICKNESS 0.010
~— 787 —
NOTES: _ 010 —=f
1) ITEM 6 IS AN ALTERNATE FOR ITEM 3 " 1/4" WASHER i i 1/4" WASHER
2) ITEM 7 IS AN ALTERNATE FOR ITEM 4 @ EPDM (1/16" THICK MIN.) | STEEL (1/16" THICK)
3) ITEM 8 IS AN ALTERNATE FOR ITEM 5 I L 63 DA | i | 63 Dia
.28 DA, - 984 .28 DIA,
030
| ﬁ
v f
1/4-20 ZAMAC
NICKEL PLATED
WASHERED WINGNUT
is R.. .E. DOTT GALLINA s.r.l.
Lulx Bie Lpras B Str. Carignano 104
! 10040 La Loggia ~ Italy
I |
" 16 & 25 MM HURRICANE STORM PANEL ROC
COMPONENTS AND B.O.M.
] PREPARED BY: h: JATE:
' Y S— Y il mmmﬂmom
- il . NG
: . 2361 SE. S b ‘.F GAL—-0007
- . wﬂw m_. v“m__» ! . . PTC ENGINEERING, INC, o3 T [ —
- e o F.B.vum .n._wr;_n g.. bf Authtorizfion _,”m. \WEU Phove 772.398,4639 Fax us.umm.s..t_ - 5 OF 5
= g

Ty ML 4 '




